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® 180 =22x32x5

T 241D x2+1)x(1+1) =18(7)
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6399 HagulFE2x32 =18,
w24 100 o]atolA 18 9] Hl- 57




16. AdFsno|disted n+32 59 850l n+5%3
n+8 215 2 Uier U A]E Fatola,

> E:

> Het: o

B

Lo

n+3 259 HjgolBR

2 2,7,12,17,22,--- °]1,

n+5+= 39 HigolER

A2 1,4,7,10,13,16,19,22, - - o[t}

IJE2 ZAAF ol E & e e

9 F ge] 3ER BB R 7,22,37,52,--- o[t}
S (n+8E15 2 UE UHA)=0




17. 7}29] Z0)7} 220cm, A=) 2017} 200cm &1 Holl A2 mopo]
gole 71 9w gt HrZold B A7 Bojeiw &

o o] ehelo] Washa) Fatolat,

o

=§ %3

>
> HE 1103

od =

B \
AR Brd o] g §9] Zdoli= 220 T 200 O F o5 oF0]
og

220 = 22 x 5 x 11, 200 = 23 x 52

o 22 x5 =20

webA et e o A=

(220 = 20) x (200 + 20) = 110 ()




18.

T 4 a, b ol sk

anb = (a, b3 A0l 2 &), aVb = (a, b3 AUZo] 22 )
2t o] o of,

{(-5)a3) ¥ {38(-2)} &l k& Fstoiet

> &

> H™eh: 3

~&B ‘

WA {(-5)a3} = FIHEAL

=5 o] AYgl2 5 0|1 3 o AHY2 3 |2 F 5 T gl
Z FE -5 °lth

E, {3a(-2)} & FolEH 3 o EHgh2 3012 -2 9]
20|88 & 5 5 ZUligho] & =3 ot

(=5)V3 oA -5 o] g2 5 0]aL 3 o FUigt2 3 0|BR F

% % Agge] A St 3 olck.

i
poe)
2N,
rlo




Aunec)| -3 | 17 | 27 | 34 | 18
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©3/8: (+17) - (-2) =19,
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